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4. HIIH=It=sSH

A1 2L EIL S HIIHEIsSE WS

r10
[
0[0

(1 g 2l

SIAK FANMF) | X=S(%R 2=} Ao
EHot=Lict 1,000 100.00 10,000 10,000
(7) JeH =S8 10,500 50.00 105,000 105,000
SHEA A SHILE 46 1.01 460,000 460,000
() Z& Rrak2e | TS 31,000 100.00 310,000 310,000
(RIAN= 5,000 50.00 50,000 50,000
(F)e=HOoIA LS 1,900 - 6,460 6,460
OIF2 15,000 - 52,500 52,500
() HIZEINIA 1,000 - 7,000 7,000
Ol0tERH 76 - 100,000 162,597
() T2l Rrak2e | CHs 6,000 100 60,000 60,000
S |HSEB - - 98,400 100,890

g A 71,522 1,259,360 1,324,447
(2) ® Il

SIAK FANMF) | K28R 2=} Ao
EHot=Lict 1,000 100.00 10,000 10,000
(7) JeH =S8 10,500 50.00 105,000 105,000
SHEA A SHILE 46 1.01 460,000 460,000
() Z& Rrak2e | TS 31,000 100.00 310,000 310,000
(NS 5,000 50.00 50,000 50,000
(F)e=HOoIA LS 1,900 - 6,460 6,460
OIF2 15,000 - 52,500 52,500
() HIZEINIA 1,000 - 7,000 7,000
Ol0tERH 76 - 100,000 127,391
S |HSEB - - 98,400 99,390

g A 65,522 1,199,360 1,227,741
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42012 B & H=otsSdE MEd 8l NEsSHl2E SIS MY
UN =HE =+ gle B2 FASE Itz ototd st
5. AI=8HESEAF4
51 ZAtS XIZHILIEXSIAL0 CHEE XIZE 88 s U3 5L (R )
(1< 2l
S FAI(F) X=E(% HSS01 E=XHAFX 2D Aok
(F =S 68,600 49.00 686,000 4,017,322 4,017,322
(2) & 2l
S FAI(F) X=E(% HS0! E=XHAFX 2D Ao
(=Y 70,000 50.00 700,000 2,595,813 2,595,813
52 NEZEHAEZEXRFA0 CHE BOHUHS 2 S0 ZSLICH(ES - &J)

& 2l
3|AlY JEFEIIH | JBHE(HD) | K2HLQ | XSRS | J|LER)}
(F)si=cel 2,595,813 (51,916) 1,473,425 - 4,017,322
(2) & Dl
3|AlY JEFEIIH | JBHE(XD) | K2HLQ | XSRS | J|UER)}
(F)si=cel 1,806,235 - 789,578 - 2,595,813
530U S NSHIIEXI AL Q2 MRHB= (1S 2SLICH(SHSY - &)
3|AMY KHAHEH SN Dy S|2=0/2!
(F)ai=cel 06,648,435 18,449,819 14,808,052 3,008,990
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6. ¥IIHAH=

o120 &2 M Z3IUAHs2

(1) g Dl

HeHx pJE=rl] DIE=DL pIEIES D) [el=rel
(Fa=c 1,919,500 - (1,919,500) -
(LA 7,495,000 3,440,000 (175,000) 10,760,000
e 615,000 - (615,000) -
QI 128,938 - (24,105) 104,833
ZAERI0|E0{5H 300,000 - (300,000) -
HRl0|EAER | EEER 400,000 - (400,000) -
olard 10,000,000 - - 10,000,000
e 50,000 - (50,000) -
(R BRI - 6,850,000 (5,070,000) 1,780,000
() POIXAZRIHE - 3,800,000 (50,000) 3,750,000
J1E 23,762 82,000 (49,304) 56,458

g A 20,932,200 14,172,000 (8,652,909) 26,451,291
o1 B ZOIHUSS 014gAR 0141, UM, DEF, HAQHAEUER,
AMASYAS AUIMRFO0INH, = HHS 26t 5242 =40 CHotH & 12,
008K BHRIS] 2MY LT = M2 JUSLICH
(2) & Dl

HeH pE==101 DIE=DL PIEPIPN J|USH
(Pa=cy 2,119,500 1,000,000 (1,200,000) 1,919,500
Hil 2 A& (=) 550,000 - (550,000) -
(R)aIA 1,360,000 7,023,000 (888,000) 7,495,000
oDl 70,000 1,620,000 (1,075,000) 615,000
AT 500,000 - (500,000) -
QI 150,000 - (21,062) 128,938
s 1,000,000 - (1,000,000) -
ZHAERI0|E0{5H - 300,000 - 300,000
Hel0|EAER B S - 400,000 - 400,000
olard - 10,000,000 - 10,000,000
e - 50,000 - 50,000
J|E 11,000 30,000 (17,2398) 23,762

g A 5,760,500 20,423,000 (5,251,300) 20,932,200
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7. YRS

—

H =
S

—
g

o
=

G122 IS AL REXA HSUWAES OGS0 LSLCH (S & J)
(1 g 2l

7 = J|==H FH 5 X =2 eS| 2okt | J|2S
EXl 1,196,565 - - - - 1,196,565
2= 386,032 - - - (11,297) 374,735
A2 95,741 184,313 (1) - (84,898) 195,155
BIZ 8,160 4,390 - - (4,828) 7,722
ANEEXI 4,913 - - - (2,415) 2,498
A SO 13,700 3,000 - - - 16,700
Al 1,705,111 191,703 (1) - (103,438)| 1,793,375
(2& 2l

7 = J|==H H = =2 eS| 2otz | JIZ2SN
EXl 583,518 613,047 - - - 1,196,565
2= 397,329 - - - (11,297) 386,032
A2 191,827 - (5,368) - (90,718) 95, 741
BIZ 14,895 - - - (6,735) 8,160
ANEEXI 1,112 - (2,167) - (4,032) 4,913
A SO - 13,700 - - - 13,700
Al 1,198,681 626,747 (7,535) - (M2782)| 1,705,111
8. ESEX2 SAIXIIt
G012 HOIZ ST A ERot e EXC SAXIFUHE2 s E€sU
Ch.(Etel : &J)

EEIIH SAIXIt

T 4 s =9 & =9 &

SR EXl 1,196,565 1,196,565 533,630 488,212
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15. 0192 S M2 H LA
20| 2 M9 0lYASHEAH A E TS ZSLICHESIR).
3 = A 15 (<) 0| A 14 (2) 71
HM20EL: 2020 33 312 HMel=Ee: 20193 33 312
. DIME0I1LLHS(0IXM2IZES) 3,093,344,549 (1,979,323,528)
HII01Z0IMeIZE= (1,979,323,528) (5,429,077,107)
2I=0l 5,072,668,077 3,449,753,579
[RUERICEELTERE= IR 4,896,480 -
ZAISHO|BISH T2 AR} 4,8%,480 _
Il. X210/ 20IMZ0ILLAHS(0IM2IZESE) 3,088,448,069 (1,979,323,528)
16. ==&
SALS] &0/ 2 BEF 10| hE #0/US HAS A2, I 2EYE0/90
ASUHE2 OS 2SLICH(ERIR =)
2= =3p] ]
PEXED|2:0/0! 5,072,668,077 3,449,753,579
IIEYRRSESTAL 150,000 74,982
Dl Zg0/] 3818 46,039
(NIIsBIRSESFA >
<>
== AL 1=l B
pJE= 150,000 365 54,750,000
IIEHRRSBEFAIL 1 54,750,000 + 3652 = 150,000%
<HI>
== AL o=l B
pJE= 50,000 365 18,250,000
RUSK 100,000 91 9,100,000
= 150,000 27,350,000
IIEERRSPSZAIL 1 27,350,000 + 3652 = 74,9805
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